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Questions

Smoke cause infection of.......

Which disease cause humanin tension and low spririt.

Those substance which disrupts brain functin are.

Painkiller is used to remove.

AIDS spread by.

AIDS spread by a virus which destroy the

DPT is not effective in.

Cholera disease is characterizedly.

The drink which can't use in Hepatitis is.

Thread worms are lay egg around.

The round worm is about................ centimetre long.

Which is dangerous type of influenza.

Which one is dangerous and rapidly spreading infection

Hapatitis is the inflammation of.

Influenza virus is ........cccccveeennns types.

Answers Choice

Heart

. Immune system
. Lungs

. All of them

Delerium
Hysteria
phobia
Depression
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Sedatives
Hallucinogens
Pain killer

All of them

Headache
Hepatitis
AIDS

None of them

Touching
Polluted water
Shaking hand
None

Dow» DOowWr Dom>

Digestive system
Liver

Immune system
Kidney

Diphtheria
Polio

Botha a /b
None of them

. State fruits

. Poluted water
Stools water
All of them

Water
Juice
Vitamins
Alcohol
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Anus

Liver

. Kidney

. All of them

.10 to 30
.20 t0 30
.40 to 50
70 to 80

Type A
Type B
Type C
aandc
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. Hepatitis
Whooping cough
Tatanus

T.B

Heart

Kidney
Liver
Stomach
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